

ARKANSAS STATE UNIVERSITY SYSTEM

Equity in Athletics Disclosure Act Survey

Academic Year 2023

Prepared by: Institutional Research Office Effective October 15, 2023

Full-time University Undergraduate Enrollment Fall 2022

Gender	Number	Percentage	
Male Students	763	47%	
Female Students	847	53%	
Totals	1610	100%	

Athletic Participation at Henderson State University Academic Year 2023

	Number of	Participants	Number of Participants Participating on a Second Team		
Sport	Men's Teams	Women's Teams	Men's Teams	Women's Teams	
Baseball	38				
Basketball	15	15			
Cross Country		8			
Football	136				
Golf	10	6			
Softball		28			
Swimming	23	25			
Tennis		9		2	
Volleyball		23			
Total Participants	222	114	0 2		
UNDUPLICATED	222	112			

Head Coaches Assignments (Men's and Women's Teams) Academic Year 2023

	Male Head Coach				Female Head Coach				
Sport	Assigned to Team on a Full-time Basis	Assigned to Team on a Part-time Basis	Full-time Institution Employee	Part-time Institution Employee	Assigned to Team on a Full-time Basis	Assigned to Team on a Part-time Basis	Full-time Institution Employee	Part-time Institution Employee	Total Head Coaches
				Men's Tea	ims				
Baseball		1	1						1
Basketball		1	1						1
Football		1	1						1
Golf		1	1						1
Swimming		1	1						1
Coaching Position Totals	0	5	5	0	0	0	0	0	5
			W	/omen's To	eams				
Basketball						1	1		1
Cross Country						1		1	1
Golf		1	1						1
Softball		1	1						1
Swimming		1	1						1
Tennis						1	1		1
Volleyball		1	1						1
Coaching Position Totals	0	4	4	0	0	3	2	1	7

Caveat Golf Coach - coaching both men's and women's teams. Swimming Coach - coaching both men's and women's teams. Women's Cross Country and Women's Tennis are coached by the same person.

Assistant Coaches Assignments (Men's and Women's Teams) Academic Year 2023

		Male Assistant Coaches				Female Assistant Coaches			
Sport	Assigned to Team on a Full-time Basis	Assigned to Team on a Part-time Basis	Full-time Institution Employee	Part-time Institution Employee	Assigned to Team on a Full-time Basis	Assigned to Team on a Part-time Basis	Full-time Institution Employee	Part-time Institution Employee	Total Assistant Coaches
				Men's Tea	ms				
Baseball									1
Basketball		1	1						0
Football		6	6						6
Golf									0
Swimming		1	1						1
Coaching Position Totals	0	8	8	0	0	0	0	0	8
			W	/omen's Te	eams				
Basketball						1	1		1
Cross Country									0
Golf									0
Softball						1	1		1
Swimming	1	1							1
Tennis									0
Volleyball						1	1		1
Coaching Position Totals	1	1	0	0	0	3	3	0	4

Athletically Related Student Aid Academic Year 2023

	Men's Teams	Women's Teams	Total
Amount of Aid	\$1,460,448	\$734 <i>,</i> 359	\$2,194,807
Percent	67%	33%	100%

Athletic Recruiting Expenses Academic Year 2023

	Men's Teams	Women's Teams	Total
Recruiting Expenses	\$28,398	\$10,609	\$39,007
Percent	73%	27%	100%

Athletic Operating Expenses (Game Day Expenses) Academic Year 2023

		Men's Teams		,	Total		
Sport	Participants	Operating Expenses Per Participants	By Team	Participants	Operating Expenses Per Participants	By Team	Total Operating Expenses
Basketball	15	\$5,680	\$85,206	15	\$5,385	\$80,781	\$165,987
Football	136	\$1,203	\$163,603				\$163,603
Baseball	38	\$2,188	\$83,147				\$83,147
Cross Country				8	\$540	\$4,317	\$4,317
Golf	10	\$3,397	\$33,966	6	\$4,227	\$25,362	\$59,328
Softball				28	\$2,156	\$60,378	\$60,378
Swimming	23	\$1,573	\$36,178	25	\$1,221	\$30,534	\$66,712
Tennis				9	\$1,449	\$13,037	\$13,037
Volleyball				23	\$3,468	\$79,766	\$79,766
Total Operating Expenses Men's & Women's Teams	222		\$402,100	114		\$294,175	\$696,275

Athletic Total Expenses and Revenues Academic Year 2023

Croant		Expenses		Revenues			
Sport	Men's Teams	Women's Teams	Total	Men's Teams	Women's Teams	Total	
Basketball	\$466,763	\$410,560	\$877,323	\$466,763	\$410,560	\$877,323	
Football	\$1,503,067		\$1,503,067	\$1,503,067		\$1,503,067	
Baseball	\$414,381		\$414,381	\$414,381		\$414,381	
Cross Country		\$83,964	\$83,964		\$83,964	\$83,964	
Golf	\$157,153	\$130,287	\$287,440	\$157,153	\$130,287	\$287,440	
Softball		\$282,413	\$282,413		\$282,413	\$282,413	
Swimming	\$195,310	\$145,112	\$340,422	\$195,310	\$145,112	\$340,422	
Tennis		\$119,047	\$119,047		\$119,047	\$119,047	
Volleyball		\$346,753	\$346,753		\$346,753	\$346,753	
Total Operating Expenses Men's & Women's Teams	\$2,736,674	\$1,518,136	\$4,254,810	\$2,736,674	\$1,518,136	\$4,254,810	
Not Allocated by Gender/Sport			\$1,668,467			\$1,668,467	
Grand Total			\$5,923,277			\$5,923,277	